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(AR FAEIA)
FARTEA 1 METER 3 METER
= 8 (STR) | 8% (PIKE) [#31(TUCK) [ & (FREE)| {8 (STR) | #B (PIKE) |#4(TUCK) | B 8 (FREE)

EIEE I A B C D A B C D

101] @i 7 14 1.3 1.2 — 1.6 15 14 —
102]gIEIRY 1 1.6 15 1.4 — 1.7 1.6 15 —
103|HIERY 1[E3F 2.0 1.7 1.6 — 1.9 1.6 15 —
104|RIERY  2[H] 2.6 2.3 2.2 — 24 2.1 2.0 —
105|HIERY 2[EF — 2.6 2.4 — 2.8 24 2.2 —
106|HiIERY 3[E — 3.2 29 — — 2.8 25 —
107[ATEHERY 3EF — 3.3 3.0 — — 3.1 28 —
108|HIERY 4[H] — — 4.0 — — 3.8 3.4 —
109[ATEHIRY 4[E1F — — 4.3 — — 42 3.8 —
112[BE P ERY — 1.7 1.6 — — 1.8 1.7 —
113|FLEREIRY 1EFE — 1.9 1.8 — — 1.8 1.7 —
5[ALRAPERY 2EF — — — — — 2.7 25 —
B BAOA A B C D A B C D

201 | & 7R 1.7 1.6 15 — 1.9 1.8 1.7 —
202|#2EHIRY 1[A] 1.7 1.6 15 — 1.8 1.7 1.6 —
2032 EHRY 1EF 25 2.3 2.0 — 24 22 1.9 —
204|#&EHRY 2[H] — 2.5 2.2 — 2.5 2.3 2.0 —
205[#2EHIRY 2[A)F — 3.2 3.0 — — 3.0 2.8 —
206(#2EHIRY 3[A] — 3.2 29 — — 2.8 25 —
207[#2HIRY 3[EF — — — — — 3.9 3.6 —
208|#2 HIRY 4[] — — — — — 3.7 3.4 —
209| & ®HRY 4[EF — — — — — 47 44 —
212| &P EHIRY — 1.7 1.6 — — 1.8 1.7 —
213| B EIRY 1A — — — — — 2.4 2.1 —
215\ EIRY 2@ F — — — — — 3.3 3.1 —
F 38 BIAOA A B C D A B C D

301 | Fil ¥ 1.8 1.7 1.6 — 2.0 1.9 1.8 —
302|FEEIRY 1[A] 1.8 1.7 1.6 — 1.9 1.8 1.7 —
303[AFEEIRY 1[EF 2.7 24 2.1 — 2.6 2.3 2.0 —
304|HEEHIRY 2[H] 2.9 2.6 2.3 — 2.7 2.4 2.1 —
305|AIFEEEIRY 2[@F — 3.2 3.0 — 3.4 3.0 28 —
306 |AIEEIRY 3[A] — 3.3 3.0 — — 2.9 2.6 —
307[AI¥EEEIRY 3[EF — — — — — 3.8 35 —
308|A ¥ EIRY 4[] — — — — — 3.7 3.4 —
309(AIFEEIRY 4@ F — — — — — 47 4.4 —
12| E P EHIRY — 1.8 1.7 — — 1.9 1.8 —
13|k EIRY 1@ — 2.6 2.3 — — 2.5 2.2 —
48 BB URIAGA A B C D A B C D

401 |2 BS U RI R IA 1.8 15 14 — 1.7 14 1.3 —
402|#Z BEYIERY 1[E] 2.0 1.7 1.6 — 1.8 15 1.4 —
403|#Z BEUIERY 1[EF — 24 2.2 — — 2.1 1.9 —
404|Z B Y ERY  2[0] — 3.0 2.8 — — 2.6 2.4 —
4052 BEUIHERY 2B — 3.4 3.1 — — 3.0 2.7 —
407|#Z BEUEHIRY 3EF — — — — — 3.7 3.4 —
409| & BYIEHIRY 4B — — — — — 46 42 —
42| E B EFEHIRY — 2.1 2.0 — — 1.9 18 —
A13| BTGP EIRY 1EF — 2.9 2.7 — — 2.6 2.4 —
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